


X

2/32

86720-50



Dansk (da)

Denne sengeramme er kun tiltaenkt brug sammen med lamelbund
eller madras med bundramme. Hvis der ileegges en elektrisk
reguleret bund, skal man vaere opmaerksom pa risikoen for
klemmeulykker, der kan medfgre alvorlige kvaestelser eller dgd.
Ved eventuel brug/montering af en elektrisk reguleret bund skal
anvisningerne fra den pag=ldende fabrikant fglges, og man skal
desuden sikre sig, at sammenbygningen overholder lovgivningen
for elektriske m@bler.

Norsk (no)

Denne sengerammen er bare beregnet for bruk med ribbebunn
eller en madrass med en solid ramme. Hvis du plasserer en
elektrisk justerbar bunn i sengerammen, ma du veere klar over
faren for a sitte fast i mekanismen, noe som kan medfgre alvorlige
personskader eller dgd. Hvis du monterer og bruker en elektrisk
justerbar bunn, ma du fglge anvisningene fra den aktuelle
produsenten og sgrge for at kombinasjonen overholder
lovforskriftene for elektriske mgbler.

Svenska (sv)

Den har séngramen ar endast avsedd fér anvdndning med lameller
eller en madrass med en solid ram. Om du placerar en elektriskt
justerbar botten i sdngramen maste du vara medveten om risken
for att fastna i mekanismen, vilket kan leda till allvarliga skador
eller dodsfall. Om du monterar och anvander en elektriskt
justerbar botten maste du folja instruktionerna fran tillverkaren i
fraga och se till att kombinationen uppfyller kraven i lagstiftningen
for elektriska mobler.

Suomi (fi)

Tdama sankykehikko on tarkoitettu kadytettavaksi vain lamellien tai
kiintedrunkoisen patjan kanssa. Mikali asennat sankykehikkoon
sahkoisesti saddettdvan pohjan, sinun tulee huomioida
mekanismiin kiinni juuttumisen riski, mika voi aiheuttaa vakavia
vammoja tai johtaa kuolemaan. Mikali asennat

ja kaytat sahkoisesti saddettavaa pohjaa, sinun tulee noudattaa
kyseisen valmistajan ohjeita ja varmistaa, etta yhdistelma vastaa
sdhkoisid huonekaluja koskevaa lainsdadantoa.

Nederlands (nl)

Dit beddenframe is uitsluitend bedoeld voor gebruik met een
lattenbodem of een matras met een massief frame. Let er goed op
dat u bij het plaatsen van een elektrisch verstelbare bodem in het
beddenframe niet klem komt te zitten in het mechanisme. Dit kan
namelijk leiden tot ernstig of dodelijk letsel. Indien u een
elektrisch verstelbare bodem plaatst en gebruikt, moet u de
instructies van de fabrikant van deze hodem volgen en u ervan
verzekeren dat de combinatie voldoet aan de wettelijke eisen
voor elektrische meubels.

Frangais (fr)

Ce cadre de lit est uniquement destiné a une utilisation avec un
sommier a lattes ou un matelas avec sommier tapissier. Si vous
intégrez un sommier ajustable électrique au cadre de lit, gardez
a l'esprit qu’il existe un risque de se retrouver coincé dans le
mécanisme, ceci pouvant entrainer des blessures graves voire
mortelles. Dans le cas d’'un montage et d'une utilisation d’un
sommier ajustable électrique, veuillez suivre les instructions
fournies par le fabricant et veiller a ce que I'association des
matériels satisfait a la législation en vigueur sur le mobilier
électrique.

3/32

Polski (pl)

Niniejsze obramowanie tdzka przeznaczone jest do uzycia tylko ze
stelazami lub materacami wyposazonymi w solidng rame. Jezeli w
ramie t6zka zostanie zamontowany elektryczny mechanizm
regulujacy, nalezy zwrdcic uwage na ryzyko przytrzasniecia, ktore
moze by¢ przyczyng powaznych wypadkéw lub nawet $smierci. W
razie zamontowania elektrycznego mechanizmu regulujgcego
nalezy przestrzegac instrukcji podanych przez jego producenta
oraz upewnic sig, ze potaczenie takie jest zgodne z
obowigzujgcymi przepisami dotyczgcymi mebli regulowanych
elektrycznie.

Cestina (cs)

Tento ram postele je urcen pouze pro pouziti s prickami nebo s
matraci s pevhym rdmem. Pokud umistite do rdému postele
elektricky nastavitelné dno, uvédomte si, Ze hrozi nebezpedci
zachyceni v mechanismu a vazného poranéni nebo smrti. vV
pripadé montaze a poutZiti elektricky nastavitelného dna je nutné
dodrzovat pokyny pfisluiného vyrobce a ujistit se, Ze kombinace
vyhovuje legislativé tykajici se elektricky ovladaného nabytku.

Magyar (hu)

Ez az agykeret csak agyraccsal vagy szilard keretli matraccal vald
hasznélatra szolgal. Ha elektromosan allithatd betétet helyez az
agykeretbe, tudataban kell lennie a szerkezetbe vald becsipddés
veszélyének, ami sulyos, akdr haldlos sériilést is okozhat.
Elektromosan allithaté agybetét beszerelése és hasznalata esetén
be kell tartania az adott gydrtd utmutatasat, és meg kell
bizonyosodnia arrol, hogy a két termék kombinacidja megfelel az
elektromos butorokra vonatkoz6 jogszabalyoknak.

Slovencina (sk)

Ta posteljni okvir je namenjen le za uporabo z letvicami ali z
vzmetnico s trdnim okvirjem. Ce polofite elektri¢no nastavljivo
dno postelje na posteljni okvir, bodite pozorni, da se kak del
vaSega telesa ali obleke ne zatakne v v mehanizem, kar bi lahko
povzrotilo hude poskodbe ali smrt. Ko sestavljate in uporabljate
elektri¢no nastavljivo dno, morate upostevati navodila
proizvajalca in zagotoviti, da je sestava v skladu z zakoni za
elektricno pohistvo.

Slovens¢ina (sl)

Tento ram postele je urceny na poufZitie s listami alebo matracmi s
pevnym ramom. Ak umiestnite elektricky nastavitelnu spodnu cast
do rdmu postele, musite si dévat pozor, pretoze existuje
nebezpecenstvo, Zze sa do mechanizmu zachytite, a to moie
spOsobit zavazné poranenia alebo smrt. V pripade montaze a
pouZivania elektricky nastavite/nej spodnej Casti musite
postupovat podla instrukcii vyrobcu a ubezpecit sa, Ze kombinacia
je v sulade s legislativou pre elektricky nabytok.

Hrvatski (hr)

Ovaj okvir kreveta namijenjen je jedino za uporabu s letvicama ili
madracima s ¢vrstim okvirom. Ako u okvir kreveta postavite gumb
za elektricno podesavanje, budite svjesni opasnosti od
prikljestenja u mehanizam, $to moZe dovesti do ozbiljnog
ozljedivanja ili smrti. U slu€aju postavljanja i koriStenja gumba za
elektricno podesavanje, treba se pridrzavati uputa proizvodaca
gumba i provjeriti je li kombinacija u skladu sa zakonskim
propisima i normama koje se odnose na hamjestaj s moguénoscu
elektritnog podesavanja.



Pycckuid (ru)

Catum KapKacom KpOBaTK MOXET UCNO/Ib30BaThCA TO/NIBKO 1IaMe/b
MU MATPAC C XKeCTKUM Kapkacom. Mpu ycTaHOBKE 31eKTprnYecKkoro
PEerympyemMoro OCHOBaHWs Ha KapKace KpoBaTu Heobxoammo
Y4UTbIBaTb PUCK NonagaHusA 061:8KTOB B MeéXxaHW3M OCHOBaHwuA,
YTO MOXKET NPUBECTU K NONTYYEHUIO CEPbe3HbIX TDAaBM UK CMEPTH.
lMpw yCTaHOBKE W UCMNO/Ib30BaHUK N1EKTPHUYECKOro
perynmpyemoro ocCHOBaHuA Heoﬁxop,wmo cnhepoBaTtb
COOTBETCTBYOLWUM MHCTPYKLKMAM OT USTOTOBUTENA N C06JHO,£I.3Tb
npasuna, NpeaycMoOTpPeHHbIE 3dKOHOM B OTHOLLEHWWX
3NEeKTpHUYECcKor mebenu.

Bosanski (bs)

Ovaj okvir za krevet iskljucivo je namijenjen za koristenje sa
letvicama ili madracem sa ¢vrstim okvirom. Ako elektricki
podesivo dno postavite u okvir kreveta morate biti svjesni
opasnosti od prikljeStenja u njegov mehanizam koje mozZe dovesti
do ozbiljnih povreda ili smrti. U slu€aju montiranja i koristenja
elektricki podesivog dna, morate se pridrzavati uputa njegovog
proizvodaca i uvjeriti se da je kombiniranje elemenata izvedeno u
skladu sa propisima o elektricki podesivom namjestaju.

Srpski (sr)

Ovaj okvir kreveta iskljucivo je predviden za upotrebu sa letvama
ili dusekom cvrstog okvira. Ako u okvir kreveta postavite dno za
elektricéno podesavanje kreveta, imajte na umu da postoji
opasnost od zaglavljivanja u mehanizmu, $to moZe izazvati
ozbiljne povrede ili smrt. U slu¢aju ugradnje i kori$¢enja dna za
elektricno podesavanje kreveta, morate da pratite uputstva
odgovarajuceg proizvodaca i uverite se da takva kombinacija
zadovoljava propise za elektricni namestaj.

YkpaiHcbka (uk)

U,Fl pama NiXKKa npusHaveHa TiNbKKN ANA BUKOPUCTAHHA 3
nonepevkamm abo maTtpauyom 3 MaCMBHOKO pamolo. HKILLO BM
PO3MICTHUTE AHO 3 ENEKTPUYHUM PETYNIOBAHHAM Y PaMmi NixKKa, BU
NOBMHHI 3HaTK NPO PU3NK BPAMKEHHA CTPYMOM Bif MeXxaHi3my, Lo
MOXe NPU3BECTU A0 CepMo3HUX TpaBm abo cmepTi. Mpwm ycTaHoBL
Ta BMKOpMCTaHHi OHa 3 e/IEKTPUYHUM peryatoBaHHAM BU NOBUHHI
cnigysat! iHCTPYKUIAM BUPOBHMKa | NEpeKOHaTUCA B TOMY, LLO
AOTPUMAHO 3aKOHOABCTBA LLOA0 BUKOPUCTAHHA ENEKTPUYHKUX
me6aniB.

Romana (ro)

Aceasta rama de pat este destinatd numai utilizarii cu sipci sau cu
o saltea cu rama solida. Dacé pozitionati un fund de pat reglabil
electric in rama de pat, trebuie sa va dati seama de pericolul de a
fi prins in mecanism, fapt care poate cauza raniri grave sau
decesul. In cazul montérii si utilizrii unui fund de pat reglabil
electric, trebuie sa urmati instructiunile oferite de producatorul
respectiv si sa va asigurati ca aceastd combinatie respecta
legislatia privind mobilierul electric.

6barapckm (bg)

Ta3un pamKa 3a nerno e npeaHasHayeHa 3a M3non3BaHe camo ¢
NEeTBM UMW MaTPaLLM CbC 34paBa pamKa. AKO NOCTaBUTE
eJ/IeKTPUYeCKOTO peryampyemMmo AbHO B pamMmKaTa Ha 1ernoTo,
TpabBa fa MMaTe NpPeaBuA PUCKa Aa Ce 3aKNeLuTe B
MeXaHU3bMa, KOETO MOXXe Aa NPUYNHKM CEPHMO3HU HapaHABAHWA
UK CMBPT. B CNyyaid Ha MOHTHMpPaHE U M3NoN3BaHe Ha
€NeKTPUYECKO peryInpyemo AbHO, TpAbBa Aa cneppare
MHCTPYKUMMHTE OT CbOTBETHUA NPOM3IBOAMUTEN U A3 NPOBEpPUTE
£,a71 CbHEeTaHMeTO OTIOBapA Ha pa3nopeabuTe 3a efleKTPUYECKU
mebenmn.

4/32

EAAnviKa (el)

AUTOG 0 OKEAETOG KPERBATLOU TIPOOPITETaL MOV YL XPIION HE
oavibeg ) otpwpa pe oteped mhalolo. Eav tonobetrioste
NAeKTPIKA pUBL{OpEVN BAon 0TO OKEAETO TOU KpePatiol, MpemeL
Va TIPOCEXETE VA NV EYKAWPBLOTEITE OTO UNYAVLOMO Kot
npokAnBouv coBapoi tpavpatiopoi § Bdvatog. ITnv Mepintwon
OUVOPUOAGYNGNG KAL XPHONES MLOG NAEKTPLKA pUBULIOMEVNS Baong
TPEMEL VoL akoAoUBEe(Te TLg 06nyieg TOU KATAOKEVAOTN Kot va
BePawwveote OTL 0 CUVSUAOUOG TNPEL TO VOO TEPL NAEKTPLKWY
Enimwy.

Turkge (tr)

Bu karyola yalnizca gitalarla veya saglam bir kasasi olan yatakla
kullaniimak tzere tasarlanmistir. Karyolaya elektrikli ayar
mekanizmasi olan bir taban yerlestirirseniz, mekanizmaya sikisma
nedeniyle ciddi yaralanma veya 6lim tehlikesi oldugunu goz
ontinde bulundurun. Elektrikli ayar mekanizmasi olan bir tabanin
montaji ve kullanimi s6z konusu oldugunda, ilgili tireticinin
talimatlarina uymaniz ve kombinasyonun elektrikli ev esyalari ile
ilgili yasak mevzuata uygun oldugundan emin olmaniz

gerekir.

13 (zh)
A RARFIREAA 32 [ O HEZRmS, A vl AR mREH

FAERLR B zh i e, A0k &, A ek B
WA RS, TTRES BU™=ERhHaIET . TR RANME A A

B RTINS, s SUE IR A SR U, [RIR A R
iy LA AR A SRR .

English (en)

This bed frame is only intended for use with slats or a mattress
with a solid frame. If you place an electrical adjustable bottom in
the bed frame you need to be aware of the risk of getting caught
in the mechanism, which might cause serious injuries or death. In
case of mounting and using an electrical adjustable bottom you
must follow the instructions from the manufacturer in question
and make sure that the combination observes the legislation for
electrical furniture.

Deutsch (de)

Dieses Bettgestell ist nur fiir die Verwendung mit Latten oder
einer Matratze mit einem soliden Rahmen bestimmt. Wenn Sie ein
elektrisch verstellbares Unterteil in das Bettgestell einlegen,
mussen Sie bericksichtigen, dass bei einem Verfangen in dem
Mechanismus das Risiko schwerer Verletzungen und Lebensgefahr
besteht. Falls Sie ein elektrisch verstellbares Unterteil montieren
und verwenden mochten, missen Sie unbedingt die betreffenden
Herstelleranweisungen beriicksichtigen und dass die Kombination
den gesetzlichen Bestimmungen bezlglich elektrischer Mabel
entspricht.

Espafiol (es)

Esta estructura de cama estd pensada para utilizarse con un
somier de [dminas o con un colchdn firme. Si coloca un somier
eléctrico articulado en la estructura de cama, debe tener en
cuenta que puede quedar atrapado en el mecanismo, lo que
podria causarle heridas graves o incluso la muerte. Si instala o
utiliza un somier eléctrico articulado, debe seguir las instrucciones
del fabricante en cuestion y asegurarse de que la combinacidn
cumpla la legislacion relativa a mobiliario eléctrico.



Italiano (it)

Questo fusto di letto si intende soltanto per I'uso con pannelli o
un materasso con una struttura solida. Se si sistema una base con
regolazione elettrica nel fusto di letto bisogna tenere conto

del rischio di rimanere preso nel meccanismo, cid puo causare
lesioni gravi o la morte. In caso di montare e utilizzare una base
con regolazione elettrica eseguire le istruzioni del fabbricante in
questione e assicurarsi che la combinazione rispetti la legislazione
su attrezzature elettriche.

HAEE (ja)

COXRy F7L—L#xfifHd oL &, BL27L — L%
Al ASy FEFE2y FL AR L 20 LE N
FEHA. Ny F7L—AZEHRATEH£RET 255

B TOBCAn P 2EMAH Y. ERABE LI
FHAEHLBENDHZECTFRTAILERADHY 7.

W EEAT SR OBT 8 S U+ T2 & &3, 4473
A—A—OFHEFCHE . B H @ B 4 2 500 2 w5
LTWaZEEMRL TS b,

Portugués (pt)

Esta estrutura de cama destina-se apenas a ser utilizada em
conjunto com travessas ou com um colchdo assente sobre uma
estrutura sélida. Se colocar uma base eléctrica ajustavel na
estrutura da cama é necessario que tenha consciéncia do risco de
ficar preso no mecanismo, o que podera provocar lesées graves
ou mesmo fatais. Ao montar uma base eléctrica ajustavel devera
seguir as instrugbes do fabricante e garantir que a combinagdo
cumpre com a legislacdo relativa a mobilidrio eléctrico.

Catala (Cat)

Aquesta estructura de llit esta pensada per a ser utilitzat amb un
somier de lamines o un matalas ferm. Si col-loca un somier eléctric
articulat a la estructura del llit ha de tenir en compte que es pot
quedar atrapat amb el mecanisme, el que podria ocasionar ferides
greus o fins i tot la mort. Si instal-la o utilitza un somier eléctric
articulat ha de seguir les instruccions del fabricant en qlestio, i
assegurar-se que la combinacio compleix |a legislacié relativa a
mobiliari eléctric.

Latviski (Iv)

So gultas rami paredzéts izmantot tikai ar restém vai matraciem ar
izturigu rami. Ja gultas rami uzstadisiet elektriski reguléjamu
pamatni, jums ir jaapzinas, ka pastav risks iesprust mehanisma,
kas var izraisit nopietnas traumas vai pat navi. Elektriski
reguléjamas pamatnes uzstadisanas un izmantosanas gadijuma ir
jaievéro konkréta razotaja noradijumi, ka ari japarbauda, vai §1
kombinacija atbilst tiesibu aktiem par elektriskajam mébelém.

Lietuviy (It)

Sis lovos remas skirtas naudoti tik su tvirta réma turinéiais lovos
skersiniais ar CiuZiniais. Jei j lovos rema sumontuosite
reguliuojamg elektring apatine dalj, turite atsizvelgti j tai, kad
mechanizme gali uzstrigti Zzmogus. Tai gali sukelti sunky suzalojima
ar mirtj. Jei sumontuojate ir naudojate reguliuojama elektrine
apatine dalj, laikykités jos gamintojo instrukcijy ir uZtikrinkite, kad
laikomasi elektrinius baldus reglamentuojandiy teisés akty.

Eesti keel (et)

See voodiraam on moeldud kasutamiseks koos liistudega voi
tugeval raamil madratsiga. Kui panete voodiraamile elektriliselt
reguleeritava pdhja, peate meeles pidama, et on oht jaada
mehhanismi vahele. See omakorda vGib pShjustada raskete voi
eluohtlike vigastustega 6nnetuse. Kui paigaldate ja kasutate
elektriliselt reguleeritavat pohja, peate jargima selle tootja
juhiseid ja veenduma, et see kombinatsioon vastab elektrilisele
maooblile kehtestatud nduetele.

5/32

(ar) &l duyal)

JU@! JJ_')-A;“ RV oAass eLL:d....)U laad & Cl}ﬂ 31 i,.}_).e JUp‘lg L,.Lp l';! Cand
pop 2 Jiw Gy S lauall § k] padlc cond ol aais S Y

b 3 32l ymeialle 1ol AN U5 iy dis oyl DbLoY B alas ol Bl3gHI.
G S5 5 Jaw 31368 JB Janall delusvislge cam B
Sl e wlall gaedl ASTI (e Blelie guinedl cplga) Sy LY
Gl



@«

<

7

()

&

e
<

0110901 x1 0111209 x12 0111211 x12 0113424 0113444 x4
N
\J
= /
\
20.87x0.02" 20.25/30.20x0.43" 20.79x0.53/0.49" 2.4x1.97x1.46x0.06" 1.97x0.59x0.39"
@22x0,5 mm @6/05x11 mm @20x13,5/12,5 mm 61x50x37x1,5 mm 50x15x10 mm
0115018 x4 0115019 x4 0115020 x4 0115206 X2 0120203 x46
30.55x0.57"/M8 M8x0.28" M6/30.28x1.77" 2.05x2.0" @0.2x1.18"
@14x14,5/M8 mm M8x7 mm M6/@7x45 mm 52x52 mm @5x30 mm
0120215 x8 0120620 x4 0121011 x4 0121204 x8 0122022 x4
(é
20.39x1.57" M6x2.36" 30.55x0.51"/M6 M4x0.28x0.12" 30.31x0.51"/M6
J10x40 mm M6x60 mm 14x13/M6 mm M4x7x3 mm J8x13/M6 mm
0125443 x20 0125440 x1 0125610 x12 0126040 x36 0126060 x8
30.16x0.63" 30.16x0.51" 30.28x1.97" @0.25x0.41" 30.25x0.59"
J4x16 mm @4x13 mm d7x50 mm @6,3x10,5 mm @6,3x15 mm
0126066 x16 0126214 x8 0131513 x20 0131687 x20 0163403 x8

30.25%0.75"
6,3x19 mm

M4x0.35"
M4x9 mm

30.30x1.73/1.34"
@7,5x44/34 mm

30.59x0.37"
@15x9,5 mm

2.48x1.57x0.91"
63x40x23 mm

6/32

86720



0163417

1.57x0.73x1.1"
40x18,5x28 mm

0173837

78.74x1.34x1.65"
2000x34x42 mm

0194057

~

> 2

=
>2
oS <\(\

24.41x0.55"

620x14 mm

x3

0197642

0.16x1.93x1.46"
4x49%x37 mm

x1

0197653 x1

N

0.24x1.42x3.15"
6x36x80 mm

7132

86720






BOX 1/3

o [
NA x2
o [
2010x195x22mm
B x2 ° C x2 KC x4 ‘o
lo [o) lo
634x93x15mm
650x198x15mm 650x198x15mm
/18993 /65851 X2
’ : : ] C |
2000x64x19mm 306x64x19mm
BOX 2/3
07212 x2
1637x644x2,5mm
ol °g
o ) ) q
: FE :
P e
o) g
o] O
1460x800x22mm
HE
1460x462x22mm

9/32

86720



BOX 3/3

A x2
1628x197x15mm
. LD :
1498x131x18mm
o UA O
1460x129x18mm
08071
1469x141x2,5mm
. E x2 °
1660x250x15mm
/GC X2
o o R . /
° FG
950x130x18mm 132x108x18mm
KE x2
265x342x15mm . . HG
950x130x18mm

10/32

86720



0120215 x8

5

©0.39x1.57"
@10x40 mm

0115018 x4

20.55x0.57"/M8
@14x14,5/M8 mm

111732

86720



0121011 x4

@0.55x0.51"/M6
@14x13/M6 mm

0115020 x4 [0122022 x4 | 0197653 x1 @

4@ N

M6/@0.28x1.77" @0.31x0.51"/M6 0.24x1.42x3.15"
M6/D7x45 mm @8x13/M6 mm 6x36x80 mm

121732 86720



0111211 x12

20.79x0.53/0.49"
220x13,5/12,5 mm

0120203 x12

6 -

@0.2x1.18"
@5x30 mm

131732 86720



0111209 x12

eI

20.25/0.20x0.43"
@6/05x11 mm

@0.30x1.73/1.34"
@7,5x44/34 mm

s

86720



x4

0115019

9 BT O

\\\\

86720

15732



x1

x4 0197642

0120620

J
M6x2.36" 0.16x1.93x1.46"
M6x60 mm 4x49x37 mm

86720

16/32



0131687

/i

"

86720

17132



0125610 X2

@0.28x1.97"
@7x50 mm

0197653 x1

e

0.24x1.42x3.15"
6x36x80 mm

X;

O
5D

JC.((

0_
@™ ----

14

181732

86720



0131687

HG

86720

19/32



16

0113424

x4

N
2%
xX
&
23
JX N
X n
0

o
35 )

=

0126040

o

20
@6,

20/32

86720



21/32 86720



19

0120203 X2

P

@0.2x1.18"

e

% 65851 x2
\\\\\\\//
0125610 X2 | 0197642 x1

@0.28x1.97"
@7x50 mm

“\..

0.16x1.93x1.46"
4x49x37 mm

65851

22132

86720



\,

&
/
78.74x1.34x1.65" )//‘
1,34x1.65

“ @

x16 0173837

2 e




0121204 x4 | 0125440 x1 [0126214 x4 | 0194057 X3

23 () @

5 o
<
S
M4x0.28x0.12" 20.16x0.51" M4x0.35" 24.41x0.55"

M4x7x3 mm @4x13 mm M4x9 mm 620x14 mm

24132 86720






26 /32 86720



86720

27132



29

0120203 x24

P

©0.2x1.18"
@5x30 mm

0131513 x4

20.30x1.73/1.34"
@7,5x44/34 mm

0125443 x16

e

@0.16x0.63"
@4x16 mm

1.57x0.73x1.1"
40x18,5x28 mm

28132

86720



0125610 x8 | 0197642 x1 @

©0.28x1.97" 0.16x1.93x1.46"
G7x50 mm 4x49x37 mm

|

32

@0.59x0.37"
215x9,5 mm

KC

29/32 86720



30/32 86720



35







